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Master of Arts (Economics) 3rd Semester

(1129)

Opt. (ii): ECONOMICS OF INDUSTRY—I

Paper—MAECO-303 & 304 (In all Mediums)

Time Allowed : Three Hours] [Maximum Marks : 80

Note :— Attempt FIVE questions in all including Question 1, which

is compulsory; each part in question 1 carries 2 marks. Apart

from question 1 select ONE from each unit; each question

in the units carries 15 marks.

1. Attempt any TEN parts (word limit 25-30 words each):

(i) Dominant position of Corporate

(ii) Separation of ownership from control

(iii) Objective of Baumol's model of sales maximization

(iv) Two Conditions that Constrain Non-Profit maximization

(v) Two Relative Measures of Sellers Concentration

(vi) Merges ND Sellers Concentration

(vii) Economies of Scale as a Barrier to Entry
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(viii) Cournot Rivalry

(ix) Incentive for Collusion

(x) Contestable markets

(xi) Sunk Costs and limit price

(xii) Limit Price versus Non-Price Competition

(xiii) Profitability

(xiv) Loss of Efficiency and Market Power

(xv) Measure of Allocative Efficiency.

UNIT-I

2. Discuss Marris Model of Growth Maximization and its implication

on growth profitability trade-offs.

3. Critically discuss Cyert and March Model of Non-Profit

Maximization.

UNIT—II

4. Discuss Monopoly power and Sellers concentration. How

Economies of Scale determines the Seller's Concentration ?

5. Define and discuss various measures of Sellers Concentrations.

Why HHI index is considered to the best measure ?

UNIT—III

6. Critically discuss Dorfinan-Steiner Condition for Optimal Adverting

and its hypothesis on Market Structure and Advertising Relationships.
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7. What is Dominant Firm Behaviour ? Critically discuss Limit Price

as a response of the Dominant Firm.

UNIT—TV

8. Discuss how productive efficiency is indicated. Discuss the relevance

of sub optimal capacity as a measure of productive inefficiency and

the factors that it.

9. Discuss Bains Hypothesis on Market Structure and Profitability.

Does Profitability reflect higher Efficiency or higher market power ?
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